( Complete table and graph )

4 lucky children got a lot of gifts this Christmas. They want to
make a table and pictograph about the number of gifts. Read the
statements below and complete the data table and the graph.

Chris

Dave
Lily

Grace

stands for 4 Christmas gifts

- Chris got 20 Christmas gifts.

- Dave got less gifts than Chris.

- Chris and Dave got 36 gifts altogether.
- Lily got the least number of gifts.

- Lily got 4 gifts less than Dave.

- Grace was the luckiest. She got 4 more gifts than Chris.

M:thin English



( Complete table and graph )

4 lucky children got a lot of gifts this Christmas. They want to
make a table and pictograph about the number of gifts. Read the
statements below and complete the data table and the graph.

Chris

Dave 16 gifts
Lily 12 gifts

Grace 24 gifts

H &
==

NEEL:

D
Each [

==

stands for 4 Christmas gifts

- Chris got 20 Christmas gifts.

- Dave got less gifts than Chris.

- Chris and Dave got 36 gifts altogether.
- Lily got the least number of gifts.

- Lily got 4 gifts less than Dave.

- Grace was the luckiest. She got 4 more gifts than Chris.
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